Name ____________________
Limiting Reactants and Percent-Yield Worksheet

1) 125 grams of hydrochloric acid react with 150 grams of zinc.  What is the limiting reactant?


2HCl + Zn ( ZnCl2 + H2
2) 100 grams of sodium chloride react with 100 grams of silver nitrate.  Limiting Reactant?


NaCl + AgNO​3 ( NaNO3 + AgCl
3) 320 grams of methane react with 400 grams of oxygen gas.  Limiting Reactant?


CH4 + 2O2 ( CO2 + 2H2O
4) Use this equation: CO(g) + 2H2 (g) (  CH3OH (l), for the following problems:
a) If you start with 5.0 moles of CO and 7.5 moles of H2, what is the limiting reactant?

b)  How many moles of excess reactant are present?

c) What is the theoretical yield of the reaction (mass of product that will form)?

5) What is the theoretical yield of the products that form when 400.0 grams of sodium hydroxide react with 300.0 grams of hydrochloric acid?
  NaOH + HCl ( NaCl + H2O 

6) Use this equation: N2H4 + 2H2O2 ( N2 + 4H2O, for the following problems:
a) If you start with 0.75 moles of N2H4 and 0.5 moles of H2O2, what is the limiting reactant?

b)  How many moles of excess reactant are present?

c) What are the theoretical yields for each product that forms?
7) 60 grams of sodium chloride react with 300 grams of lead (II) nitrate.  What mass of lead (II) chloride will form?  2NaCl + Pb(NO3)2 ( 2NaNO3 + PbCl2
8) The theoretical yield of a reaction is 9.4g, and the actual yield is 8.9g.  What is the percent yield?
9) The theoretical yield of a reaction is 1.5g, and the percent yield is 89%.  What is the actual yield?

10) The percentage yield of the reaction: PCl3 + Cl2 ( PCl5  is 83.2%.  What mass of PCl5 is expected from the reaction of 73.7g of PCl​3 with excess chlorine?
